Primary Trig Ratios Quiz
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1. a) Which side is opposite to £A? & V&
b) Which side is adjacent to £A4? &,
¢) Which side is the hypotenuse? Q &
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2. Determine each ratio A
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Primary Trig Ratios - Finding an Angle

B Find angle theta.
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Ex 4. Solve forthe unkngwn variable .
-6
@ SInO -
Do 4 h\ S Vsesin SinB-4
(& 3
O © =50 (%\)
S Y35
= 10
Y% o | S
é
o} 12 730
N O.
OKX
G h o dan
@AY SIS
C o h {en®s o
CosO = 1o
N ‘é.qn@

VR 'G%) 8. 'éq 3—



Ex. 3

From the bridge of The Maid of The Mist on The Niagara River, the angie of eievation o the top of
Niagara Falls is 64°. The angle of depression to the bottom of the falls is 6°. If the bridge of the boat
is 2.8 m above the water, calculate the height of the falls, correct to one decimal place.



